

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007

Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

WORK ORDER

WO No.

380

SHIP TO:

WO Date:

22/11/2024

NEPTUNE REALTY PVT. LTD.

Contractor Name

ELECTROLITE SYSTEMS PRIVATE

NEPTUNE TRION EXP

Address:

LIMITED

NEPTUNE CAMPUS,

NR. ATLANTIS HEIGHTS, GORWA ROAD, VADODARA

Contact No

WO Title

PAN:

GST:

GST No:

24AAACN9837D1ZI

Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	6
1	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF 8 MM ALUMINIUM ROUND	200.00	RMT	183.60	36720.00	18	
	CONDUCTOR						
2	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF BONDING/ADHESIVE BASE	186.00	NOS	45.00	8370.00	18	
3	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF BRIDGING CABLE	12.00	NOS	1047.60	12571.20	18	
4	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF CLAMPING SHOE	12.00	NOS	612.90	7354.80	18	
5	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF CONDUCTOR HOLDER	186.00	NOS	69.30	12889.80	18	
6	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF CROSS CONNECTOR FOR T & CROSS	43.00	NOS	396.00	17028.00	18	
	CONNECTION						
7	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL				02.42.40		
	SITC OF EXPANSION PIECE RD ALU	6.00	NOS	390.60	2343.60	18	
8	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF QUICK CONNECTOR	4.00	NOS	276.30	1105.20	18	
9	TOWER A LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF VARIO QUICK CONNECTOR	18.00	NOS	273.60	4924.80	18	
10	TOWER A LIGHTING ARRESTOR - DOWN						
	CONDUCTOR						
	SITC OF RABBET CLAMP 8/10MM	6.00	NOS	1508.40	9050.40	18	
11	TOWER A LIGHTING ARRESTOR - DOWN						
	CONDUCTOR						
	SITC OF CONDUCTOR HOLDER	400.00	NOS	69.30	27720.00	18	

12	TOWER A LIGHTING ARRESTOR - DOWN						
	CONDUCTOR						
	SITC OF BONDING/ADHESIVE BASE	400.00	NOS	45.00	18000.00	18	_
3	TOWER A LIGHTING ARRESTOR - DOWN CONDUCTOR						
	SITC OF 8 MM ALUMINIUM ROUND CONDUCTOR	400.00	RMT	183.60	73440.00	18	_
1	TOWER A LIGHTING ARRESTOR - RING & VERTICAL EARTHING SYSTEM						
	SITC COPPER BONDED ROD+EARTH	6.00	NOS	11549.70	69298.20	18	
5	CHAMBER+CONNECTING CLAMP TOWER A LIGHTING ARRESTOR - RING &						
	VERTICAL EARTHING SYSTEM CORROSION PROTECTION STRIP	1.00	NOS	1195.20	1195.20	18	
	TOWER A LIGHTING ARRESTOR - RING &		.,00		,		
	VERTICAL EARTHING SYSTEM						
	SITC OF GALVANISED STEEL FLAT 30X3 MM	160.00	RMT	333.90	53424.00	18	
7	TOWER A LIGHTING ARRESTOR - RING &						
	VERTICAL EARTHING SYSTEM SITC OF CROSS CONNECTOR FOR FLAT	15.00	NOS	342.00	5130.00	18	
 8	TOWER B LIGHTING ARRESTOR - AIR	13.00	NUS	342.00	3130.00	10	
U	TERMINAL						
	SITC OF CROSS CONNECTOR FOR T & CROSS	49.00	NOS	396.00	19404.00	18	
	CONNECTION						
9	TOWER B LIGHTING ARRESTOR - AIR						
	TERMINAL SITC OF EXPANSION PIECE RD ALU	7.00	NOS	390.60	2734.20	18	
<u> </u>	TOWER B LIGHTING ARRESTOR - AIR	7.00	1103	370,00	2137.20	10	
20	TERMINAL						
	SITC OF CONDUCTOR HOLDER	214.00	NOS	69.30	14830.20	18	
1	TOWER B LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF CLAMPING SHOE	14.00	NOS	612.90	8580.60	18	-
2	TOWER B LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF BRIDGING CABLE	14.00	NOS	1047.60	14666.40	18	
3	TOWER B LIGHTING ARRESTOR - AIR TERMINAL	04.00	Nos	45.00	0/20 22	,-	
	SITC OF BONDING/ADHESIVE BASE	214.00	NOS	45.00	9630.00	18	-
4	TOWER B LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF 8 MM ALUMINIUM ROUND	230.00	RMT	183.60	42228.00	18	
5	CONDUCTOR TOWER B LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF QUICK CONNECTOR	6.00	NOS	276.30	1657.80	18	
6	TOWER B LIGHTING ARRESTOR - AIR TERMINAL SITC OF VARIO QUICK CONNECTOR	20.00	NOS	273.60	5472.00	18	
7	TOWER B LIGHTING ARRESTOR - DOWN	20.00	.103	2,3,00	3 17 2.00		
,	CONDUCTOR SITC OF RABBET CLAMP 8/10MM	7.00	NOS	1508.40	10558.80	18	
8	TOWER B LIGHTING ARRESTOR - DOWN						
-	CONDUCTOR	420 00	RMT	183.60	77112.00	18	
	SITC OF 8 MM ALUMINIUM ROUND	420.00	RMT	183.60	77112.00		18

9	TOWER B LIGHTING ARRESTOR - DOWN CONDUCTOR						
	SITC OF BONDING/ADHESIVE BASE	420.00	NOS	45.00	18900.00	18	
)	TOWER B LIGHTING ARRESTOR - DOWN CONDUCTOR						
	SITC OF CONDUCTOR HOLDER	420.00	NOS	69.30	29106.00	18	
1	TOWER B LIGHTING ARRESTOR - RING & VERTICAL EARTHING SYSTEM						
	SITC OF GALVANISED STEEL FLAT 30X3 MM	160.00	RMT	333.90	53424.00	18	
2	TOWER B LIGHTING ARRESTOR - RING & VERTICAL EARTHING SYSTEM						
	SITC OF CROSS CONNECTOR FOR FLAT	17.00	NOS	342.00	5814.00	18	
3	TOWER B LIGHTING ARRESTOR - RING & VERTICAL EARTHING SYSTEM CORROSION PROTECTION STRIP	1.00	NOS	1195.20	1195.20	18	
4	TOWER B LIGHTING ARRESTOR - RING & VERTICAL EARTHING SYSTEM			,,,,,	,2		
	SITC COPPER BONDED ROD+EARTH CHAMBER+CONNECTING CLAMP	7.00	NOS	11549.70	80847.90	18	_
5	TOWER C LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF 8 MM ALUMINIUM ROUND	200.00	RMT	183.60	36720.00	18	_
6	CONDUCTOR TOWER C LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF BONDING/ADHESIVE BASE	186.00	NOS	45.00	8370.00	18	
7	TOWER C LIGHTING ARRESTOR - AIR						
	TERMINAL						
	SITC OF CLAMPING SHOE	12.00	NOS	612.90	7354.80	18	-
8	TOWER C LIGHTING ARRESTOR - AIR TERMINAL	12.00	NOS	1047.40	42574.20	40	
	SITC OF BRIDGING CABLE	12.00	NOS	1047.60	12571.20	18	-
9	TOWER C LIGHTING ARRESTOR - AIR TERMINAL SITC OF CROSS CONNECTOR FOR T & CROSS	43.00	NOS	396.00	17028.00	18	
	CONNECTION	13.00	1105	370.00	17020.00		-
0	TOWER C LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF EXPANSION PIECE RD ALU	6.00	NOS	390.60	2343.60	18	_
1	TOWER C LIGHTING ARRESTOR - AIR TERMINAL						
	SITC OF QUICK CONNECTOR	4.00	NOS	276.30	1105.20	18	-
2	TOWER C LIGHTING ARRESTOR - AIR TERMINAL	404.00	Nos	40.00	42222.22	40	
٠	SITC OF CONDUCTOR HOLDER	186.00	NOS	69.30	12889.80	18	-
3	TOWER C LIGHTING ARRESTOR - AIR TERMINAL SITE OF VARIO OFFICE CONNECTOR	49.00	NOC	272 40	402.4.90	40	
	SITC OF VARIO QUICK CONNECTOR	18.00	NOS	273.60	4924.80	18	-
4	TOWER C LIGHTING ARRESTOR - DOWN CONDUCTOR SITC OF PARRET CLAMP 8/40MM	6.00	NOS	1508.40	9050.40	18	
5	SITC OF RABBET CLAMP 8/10MM TOWER C LIGHTING ARRESTOR - DOWN	0.00	1403	1300,40	7030.40	10	-
	CONDUCTOR SITC OF CONDUCTOR HOLDER	400.00	NOS	69.30	27720.00	18	

47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B CHAMBER+CON Spc. Copper Bonded I Earth Chamber-I Clamps-14 25 RT 49 TOWER C LIGHT VERTICAL EART SITC OF CROSS 50 TOWER C LIGHT VERTICAL EART SITC OF GALVA 51 TOWER C LIGHT VERTICAL EART				Total (A	+ B)	131840	3.98
SITC OF BONDI 47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B CHAMBER+CON Spc. Copper Bonded I Earth Chamber-I Clamps-14 25 RT 49 TOWER C LIGHT VERTICAL EART SITC OF CROSS 50 TOWER C LIGHT VERTICAL EART SITC OF GALVA 51 TOWER C LIGHT VERTICAL EART				Total GS	ST (B)	20111	2.48
47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B CHAMBER+CON Spc. Copper Bonded I Earth Chamber-I Clamps-14-25 RT 49 TOWER C LIGHT VERTICAL EART SITC OF CROSS 50 TOWER C LIGHT VERTICAL EART SITC OF GALVA 51 TOWER C LIGHT VERTICAL EART				Contract Amour	nt (A)	111729	1.5
47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B CHAMBER+CON Spc. Copper Bonded I Earth Chamber-I Clamps-14 25 RT 49 TOWER C LIGHT VERTICAL EART SITC OF CROSS 50 TOWER C LIGHT VERTICAL EART SITC OF GALVA	C LIGHTING ARRESTOR - RING & AL EARTHING SYSTEM DSION PROTECTION STRIP	1.00	NOS	1195.20	1195.20	18	%
47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B CHAMBER+CON Spc. Copper Bonded I Earth Chamber-I Clamps-14-25 RT 49 TOWER C LIGHT VERTICAL EART SITC OF CROSS	AL EARTHING SYSTEM OF GALVANISED STEEL FLAT 30X3 MM	160.00	RMT	333.90	53424.00	18	%
47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B CHAMBER+CON Spc. Copper Bonded I Earth Chamber-I	C LIGHTING ARRESTOR - RING & AL EARTHING SYSTEM OF CROSS CONNECTOR FOR FLAT	15.00	NOS	342.00	5130.00	18	%
47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A CONDUCTOR 48 TOWER C LIGHT VERTICAL EART SITC COPPER B	Bonded Rod 14mm x 3 Mt + OEC-2 25 + hamber-PVC-DM + SS Connecting						
SITC OF BONDI 47 TOWER C LIGHT CONDUCTOR SITC OF 8 MM A	C LIGHTING ARRESTOR - RING & AL EARTHING SYSTEM OPPER BONDED ROD+EARTH	6.00	NOS	11549.70	69298.20	18	%
	F 8 MM ALUMINIUM ROUND	400.00	RMT	183.60	73440.00	18	%
46 TOWER C LIGHT	struction given by our site incharge. C LIGHTING ARRESTOR - DOWN CTOR OF BONDING/ADHESIVE BASE	400.00	NOS	45.00	18000.00	18	%

Terms & Conditions

Loading/Unloading Loading Unloading, Lead Lift, Transportation - Included

Other Conditions Installation will be done by our authorised installer only

Tools and Tackles required for the Installation of above mentioned LPS items in our Scope.

Price is considering Soft Soil for Earth Pit (Rock Soil and Core Cutting Charge Extra as applicable)

You will provde OBO certificates after installation as per standard IS/IEC 62305

You will install LPS under OBO supervison (1 Visit per Month)

WO T&C Installation will be done by our authorised installer only

Tools and Tackles required for the Installation of above mentioned LPS items in our Scope.

Price is considering Soft Soil for Earth Pit (Rock Soil and Core Cutting Charge Extra as applicable)

15 you will provde OBO certificates after installation as per standard IS/IEC 62305

16 You We will install LPS under OBO supervison (1 Visit per Month)

SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- * All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- * Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site office officialy.
- * Biling amount should not exceed the rate and total value mentioned in this WO.
- * Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

We have pleasure in placing with you our Work order for the following contract kindly execute the work
as per the instruction given by our site incharge.
Authorized Signatory